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6OG<E?5=<O >?D545?5==OE <=F57D4?>6. �4<5=4 ?5D5<5==>= 6 >?D545?5==>< <=F57D4?5.  �5-
F>4O 6OG<E?5=<= >?D545?5==OE <=F57D4?>6.  �5E>5EF65==O5 <=F57D4?O E 55E>>=5G=O<< 
?D545?4<<, <E E6>=EF64. �5E>5EF65==O5 <=F57D4?O >F >7D4=<G5==OE DG=>F<=, <E E6>=EF64. 
�D<?>65=<O >?D545?5==>7> <=F57D4?4 > 6OG<E?5=<N ??>M445= ??>E><E D<7GD < >5N5<>6
F5? 6D4M5=<O. �D<?>65=<O >?D545?5==>7> <=F57D4?4 > 6OG<E?5=<N 4?<=O 4G7<. 

&5<4 9.  �D4F=O5 <=F57D4?O, >D<6>?<=5==O5 <=F57D4?O 
�444G<, ?D<6>4OM<5 > ?>=OF<N >D4F=OE, >D<6>?<=5==OE < ?>65DE=>EF=OE <=F57D4?>6. 

�6>==>= < FD>==>= <=F57D4?O, <E E6>=EF64. �OG<E?5=<5 >D4F=OE <=F57D4?>6 ?>6F>D=O< <=-
F57D<D>64=<5<. �?D545?5=<5 >D<6>?<=5==OE <=F57D4?>6 ?5D6>7> < 6F>D>7> D>44, <E E6>=-
EF64, ?D<<5DO 6OG<E?5=<O. 

&5<4 10. -?5<5=FO F5>D<< DG=>F<< >><??5>E=>7> ?5D5<5==>7> 
�>=OF<5 < ?D54EF46?5=<5 >><??5>E=OE G<E5?.  �5=EF6<O =44 =<<< < <E ?D<<5=5=<5 6 

<=65=5D=OE 7444G4E 

&5<4 11. �5O>=>65==O5 4<DD5D5=F<4?L=O5 GD46=5=<O  
$<7<G5E><5 7444G<, ?D<6>4OM<5 > 4<DD5D5=F<4?L=O< GD46=5=<O<.    �<DD5D5=F<4?L-

=O5 GD46=5=<O ?5D6>7> ?>DO4>4. �5M55 < G4EF=O5 D5L5=<O 4<DD5D5=F<4?L=OE GD46=5=<=. 
�444G4 �>L<.  &5>D5<4 EGM5EF6>64=<O < 54<=EF65==>EF< D5L5=<O 7444G< �>L<.  �E=>6=O5 
>?4EEO GD46=5=<=, <=F57D<DG5<OE 6 >644D4FGD4E.  �D<?>65=<O 4<DD5D5=F<4?L=OE GD46=5-
=<= ?5D6>7> ?>DO4>4 6 D47?<G=OE >5?4EFOE =4G><.  �<DD5D5=F<4?L=O5 GD46=5=<O 6OEL<E 
?>DO4>>6.  �444G4 �>L<.  �>=OF<5 > >D456OE 7444G4E 4?O 4<DD5D5=F<4?L=OE GD46=5=<=. 
'D46=5=<O, 4>?GE>4NM<5 ?>=<65=<O ?>DO4>4. �<=5==O5 GD46=5=<O, >4=>D>4=O5 < =5>4=>-
D>4=O5. �<=5==O5 GD46=5=<O E ?>EF>O==O<< >>MDD<F<5=F4<< < ?D46>= G4EFLN E?5F<4?L=>-
7> 6<44, <E ?D<?>65=<O. '<E?5==>5 <=F57D<D>64=<5 4<DD5D5=F<4?L=OE GD46=5=<=. 

&5<4 12. '<E?>6O5 DO4O. 
�E=>6=O5 ?>=OF<O. $O4 75><5FD<G5E>>= ?D>7D5EE<<. �5>5E>4<<O= ?D<7=4> EE>4<<>EF< 

G<E?>6>7> DO44. �D<7=4>< ED46=5=<O DO4>6: ?D<7=4> �4?4<55D4, D44<>4?L=O= < <=F57D4?L-
=O= ?D<7=4>< �>L<.  �=4>>G5D54GNM<5EO DO4O.  �D<7=4> �5=5=<F4.  �5M<= 4>EF4F>G=O= 
?D<7=4> EE>4<<>EF< 7=4>>?5D5<5==OE DO4>6. �5E>?NF=4O < GE?>6=4O EE>4<<>EFL G<E?>6OE 
DO4>6. %6>=EF64 45E>?NF=> EE>4OM<EEO DO4>6. 

&5<4 13. %F5?5==O5 DO4O. 



$G=>F<>=4?L=O5 DO4O, >E=>6=O5 ?>=OF<O. %E>4<<>EFL EF5?5==OE DO4>6: F5>D5<4 �55-

?O, <=F5D64? < D44<GE EE>4<<>EF<. $47?>65=<5 DG=>F<= 6 EF5?5==O5 DO4O: DO4O &5=?>D4 <
�4>?>D5=4.  $47?>65=<5 =5>>F>DOE M?5<5=F4D=OE DG=>F<= 6 DO4 &5=?>D4.  �5>>F>DO5 ?D<-
?>65=<O EF5?5==OE DO4>6: ?D<5?<65==>5 6OG<E?5=<5 7=4G5=<= DG=>F<<, ?D<5?<65==>5 6O-
G<E?5=<5 >?D545?5==>7> <=F57D4?4, ?D<5?<65==>5 D5L5=<5 4<DD5D5=F<4?L=OE GD46=5=<=.

13. $O4O $GDL5.

$O4O $GDL5: ?5D<>4<G5E><5 DG=>F<<, ?5D<>4<G5E><5 ?D>F5EEO, FD<7>=><5FD<G5E><=
DO4 $GDL5. $47?>65=<5 6 DO4 $GDL5 ?5D<>4<G5E><E DG=>F<=: F5>D5<4 �<D<E?5, D47?>65=<5 
6 DO4 $GDL5 G5F=OE < =5G5F=OE DG=>F<=; D47?>65=<5 6 DO4 $GDL5 DG=>F<< ?D><76>?L=>7> 
?5D<>44; ?D54EF46?5=<5 =5?5D<>4<G5E>>= DG=>F<< DO4>< $GDL5; >><??5>E=4O D>D<4 DO44 
$GDL5. 

&5<4 14. �E=>6O F5>D<< 65D>OF=>EF5= 
�D54<5F F5>D<< 65D>OF=>EF5=.  �?4EE<D<>4F<O E>5OF<=.  �D>EFD4=EF6> M?5<5=F4D=OE 

E>5OF<=.  �>=OF<5 E?GG4==>7> E>5OF<O.  �F=>E<F5?L=O5 G4EF>FO.  �4>>= GEF>=G<6>EF< >F=>-
E<F5?L=OE G4EF>F.   �?4EE<G5E>>5 < 75><5FD<G5E>>5 >?D545?5=<5 65D>OF=>EF<. �><5<=4F>D<-
>4. �>=OF<5 >5 4>E<><4F<G5E>>< ?>EFD>5=<< F5>D<< 65D>OF=>EF5=. �5F>4O <EG<E?5=<O 65-
D>OF=>EF5=. %E5<4 �5D=G??<.

�<E>D5F=O5 E?GG4==O5 65?<G<=O.  $O4 D4E?D545?5=<O.  $G=>F<O D4E?D545?5=<O, 55 
E6>=EF64.  �4F5<4F<G5E>>5 >6<44=<5.  �<E?5DE<O 4<E>D5F=>= E?GG4==>= 65?<G<=O.  �5?D5-
DO6=O5 E?GG4==O5 65?<G<=O. $G=>F<O D4E?D545?5=<O, ??>F=>EFL D4E?D545?5=<O, <E 674<<>-
E6O7L < E6>=EF64. �>D<4?L=>5 D4E?D545?5=<5 < 57> E6>=EF64. �?D545?5=<5 < ?D54EF46?5=<5 
65D>OF=>EF=OE <>45?5=, >4=><5D=O5 D4E?D545?5=<O 65D>OF=>EF5=.    

&5<4 15. �E=>6=O5 ?>=OF<O < <5F>4O <4F5<4F<G5E>>= EF4F<EF<><  
�D54<5F <4F5<4F<G5E>>= EF4F<EF<><.  �5=5D4?L=4O E>6>>G?=>EFL < 6O5>D>4.  �>=OF<5 

?4D4<5FD4 < EF4F<EF<><. �4D<4F<>==O= DO4. �>?<7>= < 7<EF>7D4<<4, M<?<D<G5E>4O DG=>F<O 
D4E?D545?5=<O, 6O5>D>G=O5 ED54=OO, 4<E?5DE<O, ED54=55 >644D4F<G5E>>5 >F>?>=5=<5.  &>-
G5G=O5 < <=F5D64?L=O5 >F5=>< ?4D4<5FD>6 75=5D4?L=>= E>6>>G?=>EF<.  �5E<5M5==>EFL, MD-
D5>F<6=>EFL < E>EF>OF5?L=>EFL F>G5G=OE >F5=>>. %F4F<EF<G5E>>5 >F5=<64=<5. %F4F<EF<G5-
E><5 >F5=>< 75=5D4?L=>= ED54=5= < 4>?<. �>7D5L=>EFL >F5=><. �>65D<F5?L=4O 65D>OF=>EFL < 
4>65D<F5?L=O= <=F5D64?.  �?D545?5=<5 =5>5E>4<<>7> >5N5<4 6O5>D><.  �D>65D>4 EF4F<EF<-
G5E><E 7<?>F57. �D>65D>4 7<?>F57 > D465=EF65 4>?5= < ED54=<E. �>=OF<5 > >D<F5D<OE E>7?4-
E<O. �D<F5D<< �<DE>=4 < �>?<>7>D>64. %F4F<EF<>4 < <7<5D5=<O E?GG4==>7> ?D>F5EE4. �D>-
65D>4 < >F5=>4 6 7444G4E E> E?GG4==O<< ?D>F5EE4<<. %F4F<EF<G5E><5 <5F>4O >5D45>F>< M>E-
?5D<<5=F4?L=OE 44==OE.  

5. ��$�����&��,�/� &�%�������

�D74=<74F<O 74=OF<= ?> 4<EF<??<=5 «�4F5<4F<>4» ?D>6>4<FEO ?> 6<44< GG55=>= D4-
5>FO - ?5>F<<, ?D4>F<G5E><5 74=OF<O, E4<>EF>OF5?L=4O D45>F4, F5>GM<= >>=FD>?L.

'4EFL ?5>F<>==OE 74=OF<= ?D>6>4<FEO 6 4G4<F>D<< E ?D<<5=5=<5< <G?LF<<54<==>7> 
?D>5>F>D4 6 6<45 <=F5D4>F<6=>= D>D<O.  �E=>6=O5 <><5=FO ?5>F<>==OE 74=OF<= >>=E?5>-
F<DGNFEO. �F45?L=O5 F5<O ?D54?474NFEO 4?O E4<>EF>OF5?L=>7> <7GG5=<O E >5O74F5?L=O< 
E>EF46?5=<5< >>=E?5>F4.

�D4>F<G5E><5 74=OF<O ?D>6>4OFEO 6 4G4<F>D<O, >5>DG4>64==OE =5>5E>4<<O<< 
=47?O4=O<< <4F5D<4?4<<.

%4<>EF>OF5?L=4O D45>F4 ?> 4<EF<??<=5 6>?NG45F:
7 E4<>?>47>F>6>G > ?D4>F<G5E><< 74=OF<O< ?> >>=E?5>F4<, GG55=>= ?<F5D4FGD5 < E ?>-

<>MLN M?5>FD>==OE D5EGDE>6;



7 ?>47>F>6>4 D5D5D4F>6, 4>>?44>6;
7 ?>47>F>6>4 > F5>GM5<G F5EF<D>64=<N ?> D4745?4< 4<EF<??<=O.
�E?>?L7G5<O5 6 ?D>F5EE5 ?D5?>4464=<O 4<EF<??<=O D>D<O < <5F>4O >D74=<74F<< 74=O-

F<= < 674<<>45=EF6<O ?D5?>4464F5?O < EFG45=F>6 6 4G4<F>D<<, 4 F4>65 >D74=<74F<O E4<>EF>-
OF5?L=>= D45>FO EFG45=F>6 >55E?5G<64NF 6O?>?=5=<5 =5 F>?L>> 4<44>F<G5E>>= (>5GG4N-
M5=), => < 6>E?<F4F5?L=>= DG=>F<<, 6 F>< G<E?5 D476<F<5 ?>7=464F5?L=>= 4>F<6=>EF< < 
G6?5GU==>EF< 6O5D4==>= ?D>D5EE<5=, D>D<<D>64=<5 ?D>D5EE<>=4?L=>7> E4<>E>7=4=<O, 
?D>D5EE<>=4?L=>= <45=F<G=>EF< < F5==>EF5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF<,  E4<>EF>O-
F5?L=>EF<  < =46O>>6  E4<>>D74=<74F<<.

%<=ED>==>5 674<<>45=EF6<5 >5GG4NM57>EO E ?D5?>4464F5?5= <>65F >EGM5EF6?OFLEO E 
?><>MLN G4F4, E>744==>7> ?> 4<EF<??<=5 «�4F5<4F<>4» =4 ??4FD>D<5 «Moodle»

'4F ?D54=47=4G5= 4?O >5EG645=<O GG55=>7> <4F5D<4?4 6 >=?4== D56<<5 6 F5G5=<5 6D5<5-
=<, ?D54=47=4G5==>7> 4?O >E6>5=<O 4<EF<??<=O. 

�E<=ED>==>5 >5GG5=<5 6 6<45 E4<>EF>OF5?L=>= D45>FO < >>=FD>?O E4<>EF>OF5?L=>= 
D45>FO ?> 4<EF<??<=5 6>?NG45F:

- E4<>?>47>F>6>G > 74=OF<O< ?> >>=E?5>F4<, GG55=>= < =4GG=>= ?<F5D4FGD5 E ?><>MLN 
M?5>FD>==OE D5EGDE>6 < D54?L=OE >=<6=OE D5EGDE>6 5<5?<>F5><;

- >D>D<?5=<5 < ?>47>F>6>4 4>>?44>6 ?> 4=4?<7G ?<F5D4FGD=OE <EF>G=<>>6 >F5G5EF65==OE 
< 74DG556=OE <EE?54>64F5?5=;

- 6OEFG??5=<5 E ?D575=F4F<O<<;
- ?>47>F>6>4 > F5EF<D>64=<N.

�=D>D<4F<>==O5 >><?LNF5D=O5 F5E=>?>7<< 6 >5GG5=<< 6>?NG4NF 6 E55O:
1. $45>FG >5GG4NM<EEO ?>4 =5?>ED54EF65==O<   6>745=EF6<5< ?D5?>4464F5?O, >>F>DO= 6 >?>-

ED54>64==>= <=F5D4>F<6=>= D>D<5 ?D>6>4<F: 
" <7?>65=<5 =>6>7> <4F5D<4?4: 6 D>D<5 ?5>F<<; 6 D>D<5 ?D>5?5<=>= 55E54O; =4 >E=>65

45<>=EFD4F<>==>7> >5NOE=5=<O E ?D<<5=5=<5< <G?LF<<54<==OE ED54EF6 <?< <=F5D4>F<6=>= 
4>E><; <5F>4<G5E>>5 E>?D>6>645=<5 < >5NOE=5=<5 F5E=>?>7<< D5L5=<O 7444G;

" ?>6F>D5=<5 < 74>D5??5=<O GG55=>7> <4F5D<4?4 6 D>D<5 4<4?>74;
" E>?D>6>645=<5 4>>?444, ?>47>F>6?5==>7> >5GG4NM<<EO.

2. $45>F4 6 <=F5D4>F<6=>= D>D<5 ?D< >>=EG?LF4F<>==>< E>?D>6>645=<< ?D5?>4464F5?O:
" ?>6F>D5=<5 < 74>D5??5=<5 <4F5D<4?4 6 D>D<5 4<4?>74, ?D< >>F>D>< <EF>G=<>>< 6>?D>-

E>6 O6?O5FEO =5 ?D5?>4464F5?L, 4 >><?LNF5D;
" 4<E>GEE<< F<?4 «<>77>6>= LFGD<» ?D< ?><E>5 D5L5=<O 7444G;
" 6O?>?=5=<5 >5GG4NM<<<EO ?>L47>6>7> 7444=<O <?< E5D<< E6O74==OE 7444=<=.

3. %>D56=>64F5?L=4O D45>F4 6 7DG??4E ?D< <5F>4<G5E>>= ?>445D6>5 ?D5?>4464F5?O:
" <7GG5=<5 =>6>7> <4F5D<4?4 E <E?>?L7>64=<5< >5GG4NM57> EF5=4D<O;
" D5L5=<5 <=F5D4>F<6=OE 7444G <?< 7444=<= <7 E>EF464 <=F5D4>F<6=OE FD5=465D>6, E

M?5<5=F4<< E>D56=>64=<O 7DG??;
" D45>F4 E <=D>D<4F<>==O<< <4F5D<4?4<< =4 >><?LNF5D5.

4. �=4<6<4G4?L=4O D45>F4 >5GG4NM<EEO =4 4G4<F>D=OE 74=OF<OE ?D< <5F>4<G5E>>= ?>445D6-
>5 ?D5?>4464F5?O:

" <7GG5=<5 =>6>7> <4F5D<4?4 E <E?>?L7>64=<5< >5GG4NM57> EF5=4D<O;
" FD5=<=7< ?> >FD45>F>5 547>6OE =46O>>6, =5>5E>4<<OE 4?O D5L5=<O 7444G;
" D5L5=<5 <=F5D4>F<6=OE 7444G 6 D4<>4E 7DG??>6>7> <?< <=4<6<4G4?L=>7> E4D4>F5D4;

<?< 557 ?>445D6>< ?D5?>4464F5?O:
" 6O?>?=5=<5 ?D>65D>G=OE < >>=FD>?L=OE D45>F;
" F5EF<D>64=<5.

5. %4<>EF>OF5?L=4O <=4<6<4G4?L=4O <?< 7DG??>64O D45>F4 >5GG4NM<EEO 4><4 <?< 6 >><?LN-
F5D=>< 74?5. 

%GM5EF65==>, GF> =4 >E=>65 >4=>7> < F>7> 65 6<DFG4?L=>7> GG55=>7> >5N5>F4 <>7GF
5OFL >D74=<7>64=O D47?<G=O5 ?> D>D<5 GG55=O5 74=OF<O.
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https://moodle.ulsau.ru/course/view.php?id=10927


�4?D<<5D, >5GG4NM<= EF5=4D<= <>65F 5OFL <E?>?L7>64= 4?O ?D>6545=<O ?5>F<<, ?D>-
5?5<=>= 55E54O, 7DG??>6>7> <?< <=4<6<4G4?L=>7> <7GG5=<O =>6>7> <4F5D<4?4 6 >><?LNF5D=>< 
>?4EE5 <?< 4><4.

�F<5F<<, GF> ?D>7D4<<=>5 ED54EF6> GG55=>7> =47=4G5=<O =5 74<5=O5F GG55=<>, 7444G=<>,

?D4>F<>G< ?> D5L5=<N 7444G (>4> < E4<>7> ?D5?>4464F5?O), => ?>76>?ONF 4>?>?=<FL 6>7<>6-
=>EF< FD44<F<>==OE ED54EF6 GG5=<O 5>74FO< 6<7G4?L=O< DO4><, <=4<6<4G4?<7<D>64==O<
FD5=465< < >>=FD>?5<.

&4><< >5D47><, <<5NFEO E?54GNM<5 64D<4=FO <E?>?L7>64=<O ?D5?>4464F5?5< D47D454FO-
645<>= ED54O 6 D56<<5 <=F5D4>F<6=>=  E<EF5<O:

1) ?D54EF46?5=<5 DD47<5=F>6 45<>=EFD4F<>==OE 5?>>>6 ?D< >5NOE=5=<< =>6>7> <4F5D<4?4
E <E?>?L7>64=<5< <=F5D4>F<6=>= 4>E>< <?< <G?LF<<54<==>7> ?D>5>F>D4;

2) >5NOE=5=<5 ?D<5<>6 D5L5=<O 7444G 6 F>< 65 D56<<5;
3) ?D>6545=<5 74=OF<= DD>=F4?L=>= D45>FO F<?4 «<>77>6>= LFGD<» D5L5=<O <=F5D4>F<6-

=OE 7444G ?D< ?>>G5D54=>= D45>F5 >5GG4NM<EEO =4 >4=>< >><?LNF5D5; 
4) <=4<6<4G4?L=O= ?D4>F<>G< ?> D5L5=<N 7444G;
5) F5>GM<= < E5<5EFD>6O= >>=FD>?L 7=4=<=;
6) ?>6F>D5=<5 < 6O?>?=5=<5 G4EF< 4><4L=<E 7444=<=.
$56<<O 1-3 ?D54?>?474NF D45>FG 6 >45<=5F5 <4F5<4F<>< E >><??5>E>< 45<>=EFD4F<= < 

EF5=4D<56 E5<<=4D>6; D56<<O 4-5 3 6 >><?LNF5D=>< >?4EE5 E >><??5>E>< <=F5D4>F<6=OE 
FD5=465D>6 D56<< 6 3 6 4><4L=<E GE?>6<OE E >><??5>E>< <=F5D4>F<6=OE <4F5D<4?>6 4?O 
>D74=<74F<< E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO.

�5NOE=5=<5 ?>DO4>4 < E?>E>5>6 D5L5=<O 7444G ?D5?>4464F5?5< E 6O7>6>< >5GG4NM<EEO
> 4>E>5 4?O E4<>EF>OF5?L=>7> 6O?>?=5=<O M?5<5=F>6 D5L5=<O < E <=F5??5>FG4?L=>= ?>4-
45D6>>= <E 6E5= 7DG??O 3 ?D>E>4OF 6 >45<=5F5 <4F5<4F<>< E <E?>?L7>64=<5< <G?LF<<54<=-
=>7> ?D>5>F>D4 <?< <=F5D4>F<6=>= 4>E><. �4F5D<4? <>65F ?>4464FLEO 6 45>?4D4F<6=>= 
D>D<5 <?< 6 D>D<5 ?D>5?5<=>= 55E54O; ?D>7D4<<=O= >><?>=5=F =4 MF>< MF4?5 =5 >5O74-
F5?L=> E>45D6<F M>E?5DF=GN E<EF5<G, ?>E>>?L>G ?D>F5EE ?>?=>EFLN >>=FD>?<DG5FEO ?D5?>-
4464F5?5<.

1. %>D56=>64=<5 7DG?? 3 >F=>E<F5?L=> E4<>EF>OF5?L=>5 6O?>?=5=<5 7444=<= >5GG4N-
M<EEO =4 <5EF4E < G 4>E>< E ?>445D6>>= E>65F4<< GG4EF=<>>6 7DG??O, <5F>4<G5E>>= ?><>-
MLN ?D5?>4464F5?O <, >4> ?D46<?>, D54>F<O<< M>E?5DF=>= E<EF5<O.
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�>7>6>D 5\= >F 30.11.2009
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'?LO=>6E>4O >5?4EFL, 
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�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 
74? 5<5?<>F5><)
�><?LNF5DO: Intel(R) Celeron(R) CPU 1.70GHz / ��' 
384Mb - 4 LF. E 6OE>4>< 6 E5FL �=F5D=5F, EF>?O < EFG-
?LO =4 80 ?>E44>G=OE <5EF.
�>7>6>D 7 44614/ULK4 >F 20.12.2013 7.
MS Offise 2003 

7.>. 7 >F 16.03.2007
�DE<64F>D 7-zip.

433511,  

'?LO=>6E>4O >5?4EFL, 
7. �<<<FD>67D44,

G?. �G=5OL564,  4. 310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G-
6<64=<O GG55=>7> >5>DG4>64=<O 7 64
�555?L 4?O ED4=5=<O. %N5<=>5 < 6E?><>74F5?L=>5 >5>-
DG4>64=<5, =4E>4OM55EO =4 ED4=5=<< < >5E?G6<64=<<.
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'?LO=>6E>4O >5?4EFL, 
7. �<<<FD>67D44,
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�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G-
6<64=<O GG55=>7> >5>DG4>64=<O (>><?LNF5D=>= F5E=<-
><) 7 32a

%F5??46-1 LF., ?>?>4 1 LF., EF>?-8 LF., 
=>GF5G> Samsung NP300 E5C - 1 LF., 

�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D 
(LibreOffice Writer), -?5>FD>==4O F45?<F4 (LibreOffice 
Calc), �D575=F4F<O (LibreOffice Impress), $544>F>D D<-
EG=>>6 (LibreOffice Draw), �47O 44==OE (LibreOffice 
Base)) 

�DE<64F>D 7-zip

�5DE>=4?L=O5 >><?LNF5DO ?D>F5EE>D Intel(R) Pentium

(R) CPU 3GHz / ��' 1,49Gb 3 6 LF.
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D 
(LibreOffice Writer), -?5>FD>==4O F45?<F4 (LibreOffice 
Calc), �D575=F4F<O (LibreOffice Impress), $544>F>D D<-
EG=>>6 (LibreOffice Draw), �47O 44==OE (LibreOffice 
Base)) 

�DE<64F>D 7-zip

433511,  

'?LO=>6E>4O >5?4EFL, 
7. �<<<FD>67D44,

G?. �G=5OL564,  4. 310
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